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Question: 1 
   
Michaela can finish 3 problems in 10 minutes. How many problems can she complete in 3 hours? 
 
A. 90 
B. 54 
C. 18 
D. 9 
 

Answer: B     
 
Explanation:  

 

Question: 2 
   

 
 
A. 90 
B. 150 
C. 160 
D. 240 
 

Answer: C     
 
Explanation:  

 

Question: 3 
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A. Option A 
B. Option B 
C. Option C 
D. Option D 
 

Answer: D     
 
Explanation:  

 

Question: 4 
   
If the average of 7 and x is equal to the average of 9, 4, and x, what is the value of x? 
 
A. x = 4 
B. x = 5 
C. x = 6 
D. x = 7 
 

Answer: B     
 
Explanation:  
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Question: 5 
   
If a number is increased by 30% and then decreased by 25%, how does the final number differ from the 
original? 
 
A. It is 5% greater than the original. 
B. It is 7.5% greater than the original. 
C. It is the same as the original. 
D. It is 2.5% less than the original. 
 

Answer: D     
 
Explanation:  

 

Question: 6 
   
Abram rolls a 6-sided die with each side labeled 1-6. What is the probability he rolls an even number or a 
number greater than 4? 

 
 
A. Option A 
B. Option B 
C. Option C 
D. Option D 

Visithttps://www.certswarrior.com/exam/tsi-math/

https://www.certswarrior.com/exam/tsi-math/


 

 

Answer: B     
 
Explanation:  

 

Question: 7 
   

 
 
A. 60 
B. 72 
c. 108 
D. 120 
 

Answer: C     
 
Explanation:  

 

Question: 8 
   

 

 
 
A. Option A 
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B. Option B 
C. Option C 
D. Option D 
 

Answer: B     
 
Explanation:  

 

Question: 9 
   
If an item with an original price of $25.98 is marked down by 25%, and a coupon for 20% off is 
additionally applied, what is the final price? 
 
A. $19.49 
B. $17.77 
C. $15.59 
D. $13.28 
 

Answer: C     
 
Explanation:  

 

Question: 10 
   
If the ratio of the measures of the three angles in a triangle are 2 : 6 : 10, what is the actual measure of 
the smallest angle? 
 
A. 20 degrees 
B. 40 degrees 
C. 60 degrees 
D. 80 degrees 
 

Answer: A     
 
Explanation:  

Visithttps://www.certswarrior.com/exam/tsi-math/

https://www.certswarrior.com/exam/tsi-math/


 

 

Visithttps://www.certswarrior.com/exam/tsi-math/

https://www.certswarrior.com/exam/tsi-math/


 http://www.certswarrior.com/ Questions and Answers (PDF) 

Page | 1  

 http://www.certswarrior.com/exam/M2180-651/   

                            
 

      
     

                           For More Information – Visit link below: 
                https://www.certswarrior.com 
                16 USD Discount Coupon Code:  U89DY2AQ 
            

 
 

Powered by TCPDF (www.tcpdf.org)

Visithttps://www.certswarrior.com/exam/tsi-math/

http://www.tcpdf.org
https://www.certswarrior.com/exam/tsi-math/

